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natural number, then HCF of A and B
is '

@) 1
®2
; (c) 3 . nt?
(d) 4

Which of the following numbers can
be representec ‘as pon-terminating,
repeating decimais?

(2)
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If A=2n+13 and B.=.'h+7, n is'-ﬁ;e -

-2n+ (3-

L AR A=2n+139R B=ppy ol

n TH AIEfeR T4 2, G A stk B

1 HEaW QRS

(@ 1
(b) 2
(© 3
(d) 4

fafaRes il & a9 & A =

| @M AT w9 8 yuR e

qHar 27

P wmre § R =

ot 37
@) 7*
() (49)*

| -1/3
(c) (3-4-3*) '

) (401

FA
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Simplifying

-1
(0-6)0 -(0.1) , we get :

1 . e
(a) ""2‘ . : ‘ { ¢
! 1 ; . 1 ” ;o
L) 3 = A
| S
! 3
& -3
3
O

The sum of all 3-digit nurabers which
are multiples of 7 is :

4 TFAW

e e,

00" =00 g
(%') ;\23; 1(5 S
(@ "iz' | —
ik L
(©) -32- f
@3

‘ .

5. o o Al Heud @t 7 4 o

‘ &, A g
() 60336 (a) 60336
(b) 70336 (b) 70336
(c) 80336 (c) 80336
(d) 90336 s “*s 0\6)190336! 0
vh Yo ad
6.~ If the sum'of first m terms ofanAPis 6. TH ¥R I & ™M m 5 =y
the same as the sum of it’s first n AN IWH T 1 R F A qUR
terms, then the sum of it’s (m+n) RUTE 4D S (nvn) W& = Tm 3
terms is | '
(2) 100 (a) 100
(b) 200 (b) 200
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7. The denocminator of a fraction is
_greater than its numerator by [1. If 8
is added to both its numerator and

denominator, it becomes % Then the
- v .

fraclion is

=) 35
25
36

© 5

12
@ %
8. If
a®=by+cz, b* =cz+ax, ¢? =ax+by;

X ¥y z
+= +
atx O0+y c+z

then the value of

will be
(a0

() 1

(c). a+b+c

I 1 1
@ 2*+ztc

* SESD/B ) 4
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DT IR LY
L

W& A ow R, Sek s Tl

a1 11 afg i & atg afit @ A
8-8 e far s @t s =

%a’t:—:m%lfﬁar%

@) 5o T
®) 32 IR
© 37 o

@ 3= .

afg

a?=by+cz, bt=cz: ax, ¢ -a.r+by

?ﬁx+y+z'q;['qr:{*§[rn

at+x b+y c+z

@) Y=
() 1
(©) a+b+ec

[ 1 1
@ Z*5*c
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9. The value of k for which lhb_zc;oc’:s of -9, 3Rk ws El_g’,‘lﬁ' J&Q 4_4“.;4_% =w
'}_1 polyncrﬁia] Jx? +4x+4 are o und B a, B ;qu}'.gau a2+;l32=24 '
3 related to a? +p2 =24 ic A d kW AR R
2 2
(B.) 1, E | (a) ln 'i
2 '
() L, -5 ® 1,3
2 ‘ 2
2 | -1 -2
(d) -1, "3 | | d -1 -3

10. A train travels 288 km at an uniform 10, 6 @l 288 fait. gl -

; speed. if the speed had been 4 km/hr W T ¥ Ferdt ¥ e
i more, it would have taken 1 hour less 6 T 4 falt. fga 31w F @
% for the same journey. Then the speed Tl (I W WA UIW L U WA
'1 of the train is TG 1| sy 6 = R
& (a) 30 kmvhr - (a) 30 feardt. Jaa
1 (®) 31 knv/hr | ‘ ®) 31 f&ft. /g
(©) 32 kmv/hr | . (c) 32 fmft. e
; (d) 33 kmv/br ' (d) 33 folt. feer
: 11. If x;.j:c.=p, thf:n 8 +;16- equalsto 11, ?Iﬁ-x+%=p, @ x6+-:_16-'=Fr LGS
BT

@) p+6p @) pS+6p
| oy pb—6p ®) p®-6p
| (c) p®-6p*+9p*-3 (c) pb-6p*+9p?-3

(d) pé—6p°+Sp -2 ) p®-6p*+9p*-2
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B S T T PRPTL X R il TR A XS ".‘_{"b'?';‘:‘f-‘

Rl RATSES

12, How many distinct redl root are

possible for the equation - 12 i x6‘251?-37=0'3t1 iz
x0-26:3-27=¢ A el ) wor e &
(@) 6 o

a
o - (b) Z '
G

(c) 3
s (d) 5

13. The three vertices of a
pamllclogram 13. e mﬁﬂ
z:of;i‘n:t)e" S:thﬁ)fand' ©: ). The (3, 4), (3 :)ﬂﬁ;(- (?ZT ;ﬁ; ;ﬂ;
5 ¢ lourth vertex are ?ﬂ;{ "B » 01 R
(3) (2,3 . (J,V) LP) %ﬁﬁﬁﬁﬁ
() (9, 4) v (321002 (b) (7,38)
ny

@ (1,5) ‘ ‘@ o K

14, The vertices of a

triangle  ape

(L a), (2,6) and (c?, -3). e T & (L a), (2, b) 3

conditj “whi Thc‘ (2, -3) B =%
onr-a;t::i:or_whxch the centroid ljes X318 R Ry -‘;?‘i:%ﬁ% %
() a+b=0 ;
(b) asbe3 @) e+b=0
© a-b=3 ®) axb=3
s  otos
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15. A pole has to be erected at a point or
the boundary of a circular park of
diameter 13 metres in such a way that
the differences of its distances from
tvo diametrically opposite fixed gates
A and B on the Youndary is 7 metres.
At what distances frem the two gates
should the pole be erected?

(@) 6mand 13 m

(®) Tmand 14 m

15.

(c) Smand 10 m

(d) 5 mand i2m

16. 1 and ly are two parallel lines as

shown in figure, If AB and BC are tje

bisectors of ZCAD and ZACE

respectively, then ZABC =

_D A

B

‘}Iz

(2 90°
(b) 60°
(c) 45°
(d) 30°

16.

13 1. =0 & TE NER o
xﬁqrmiﬁmnaaﬁgqtﬁw
@ IR g fea s g e o
= WM W s fgda fmed A

B T ¥ w R e W s

7R T S e gl w
B T3 T T 7

(a) 6 . afix 13 i,
(b) 7 ¥f1. 3R 14 i,
(c) 8 =. 3fix 10 .
{d) 5 7. afix 12 M.

b3 L A quRn e R
mﬁhﬁlﬂ‘aABaﬂthm:
ZCAD R ZACE 9 BL it

. ‘e &=
—— e e e L L
-

W ZABC =
D VA
-,
B
: \ |
E C —h |i
[
(a) 90°
(b) 60°
(c) 43°
(d) 30°
i
[P.T.0.
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' .:.. g:!""r: Wh IR 1- Fl: E‘:‘E FWEC "':Jg'.,'

UR—~

.17. In the ﬁgure shown AB = BC and 17.. TEQ ¢ 3 4 Ap BC
. = a‘m

éABC =36°, ZBOC is cqual to (if O ZABC = 3¢°, 1 Z/BOC &1 o |
is the cemre of c1rcle)

A (4 O 37 =1 ¥ B)

L T,

e —

(a) 36° (a) 36°
&) 72° (b) 72°
(c) 108° {c) 108°
(d) 144° (d) 144° i
‘ 3
. 18. If' tl'1e corresponding aititudes of two . 18. uf 2 wEwy gt & v ol o
SImllar‘tnangles are 6 cm and 9 cm 6 . 3K 9 AW, ¥ @ I '
respectively, then the ratio of their A% =5 mcr—cr@m :
areas is = |
. 4) 2:3 ' '
1!: ) (a) (a) 2:3 ;
!__ ®)3:2 ®) 3:2 ,'
- _ (d)4:9 () 4:9
19. 1fG is the centroid ofa triangle ABC, 19.. % G = ABC W FE B
then the area of triangle GAR is equal STFT B ~ e
- ! AGAB w7 &
to . . 4 T o
@ LaraABC B ) L
i . 1 ¢ (@) 7 x A ABCH &3%a
2
2 2
(b) 5 arA ABC (b} 3 x A ABCH1 &awe
1
(c) ard ABC (€) 3 x A ABC i &=e .
{
—_— - 1 l |
(95 ar A ABC (d) 5 x & ABCH S

SESD/B e
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'ﬁ'guré, ABC- 13- an
inscribed M a
cm. Areca of the

0. In the given

1 1
cqui‘latcral triang.¢

cizcle of radius 3

shaded portion will be
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hJ

22,

N

23,

24,

<5,

Vertical and horizontal cross-seclions
ofright cone are always, respectively

() rcclangu_lnr, cllipse
(b) triangle, circle
(<) trangle, Square
(d) circle, triangle

ABCD is a cyclic quadrilatera| in
which AC and BD are jts diagonals, If

4DBC = 55° gn4 £ZBAC = 45°, then
<BCD will be

(a) 80°

(b) 60°

(c) 79°

(d) 110°

The minimum value of
25in29+3c0528 is

(@) 0

Ab) 1

(© 2
(d) 3;

lfanglcs A,BandCofa AABC fonn
an increasing arifhmetic pﬂrsgreésion,
then sin B =

10

i i Editor.
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22,

23,

"4,

25.

U T F R amew

_ é\fﬁa:ngm_;wnéaim:

(n) e, Qiigm

(b) Bnr, 7

(c) P, =

(d) =0, frym

ABCD T i T} forer
AcaﬁtBDm%nﬁm}%mﬁ

ZDBC = 55° i)t £BAC =45° @)
ZBCD Am

(a) 80°
() 60°
(c) 70°

) 1100

2sin20+3¢0s2g T e o7y R

(a)o
(o) 1
(c) 2
(d) 3

nﬁmac%a«’rom,ssfncw .
S T R wnia X T o
sinB =
(a)-l—

2
NE)

—

®) %

(© 1
(d)

L

V2

cem———— -
———— —

Scanned with CamScanner


https://icecreamapps.com/PDF-Editor/upgrade.html?v=2.56&t=9

'”"en-“ Dl S AL i . e —

. .
b, S oA T TR Bt e

26. An acroplane when 3000 m high . 26. 3000 et @ I=E g - TR

passcs  vertically above another T A3 aAE FOH N IG e
X ~aeroplane at an instance when their TR € 7 gl aEl & wew Sllao
angles of clevation at the same ﬁl’% 8 IFE W W A 60° 3

obscrvaticn point are 60° and 45°, 45° 1 T gl F ey e
Then the distance bLetween the HUKLHES -
acroplanes are :

a)
(2} 1000 m (a) 1000 7.

(b) 1160 m (b) 1160 .
(c) 1268 m (c) 1268t
(d) 1350 m (d) 1350 7fi
27. In a pack of 90 cards, each card ig 27. 90 T4l HTH I IRAF W W 110
' marked wiih a different number from A 199 7% B W-W T
: 110 0 199 A card was selected at w6 ) Ok w ‘F{T C S
i random, the probability that the ‘ T o 5
| ° he IS A W IW W ifrd dEm H
: humber on it is not a perfect square is o = 7 8 5 il 2 |
b (a) ﬂ hatls
3 )75 (a) %
Y gy |
L 45 ®) gé '
wé ;
@ | =
i . - (9 o
13 |
@ 13 o 13 .
«] 15 . : 'd') e '
ﬁ 15
A
|
|
| i
| SESDB 11 [P.T.O !
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28. The probability

o hepd In (0Ssing a_pair: of fajr coins is

29,

(@) 0
©® &

1
“r3

{d) 3

For the following distribution

The moda) class is ;
(a) 20-40
(b) 40-50)
{e) 60-80
@) 80100 .
3.0. A grandfather, two fatherg and- tw
:;::[h went toi; the movie theate(:
ge! ez: and cveryone bough¢ one
.r:?ov:e ticket each. How mapy
did they buy in ‘total? v ke
(a) 2
(b) 3 %‘
@s
- SESD/B é
: [2
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of getting cxactly one

28. Q Py Rt =) BRI g1 i%
W fiwF & e w fy
: T4 9T fig an?rl
(a) 0 ]
[
(b) 7
I
(c) 3
, 1
(d) 3 f
29. FeiaRe e i |
e arferr a‘gaaﬂ
ST ¥ 5w |
— 20 [ 40 60 8(1‘_ 10G | 120
. 411225 | 56| 74 80’
(a) 2040
(%) 40-60 -
(c) 60-80 Eﬂ
(d) 80-100
30 R, AR o D g
f%%zaﬁ € T v Ry
il éﬁ;?tf{cara: T FA ey
(a) 2
(b) 3
{c) 4
@ s
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32.

34,

SESD/B

. Shooter Alessandra Perilli won first
ever Olympic medal for which of the

following country in Tokyo 2020
Olympics :

(a) Barbados
(b) Malta

(c) Monaco
{d) San Marino

Who among the following has the

right o speak in the House of
Parliament?

(7) Chicef Justice of India
() Chief Election Commissioner

(c) The Atorney General

{d) Governor, Rescrve Bank of India

. Shanti Swarup Bhatnagar Award is

given for one's contribution to :

L&)~ sports

(b) journalism

(c) science and lcglmqlgg)r

(d) literature |

The New Education Policy 2020
replaces the previous National Policy

on Education which was adopted in
the year

(2) 1985
(b) 1986
(c) 1987
(d) 1988

13

This PDF document-was:edited-with-Icecream PDF Editor.

31, BoREr g Weh A Qe

2020 @ 3§ Foxfafiaa 1 e

@ % fou vgen e wew
i

(a) TR

(L) ure

(c) "Rt

(d) & mic .
T ¥ fFeR dug ¥ aen @
ST 7

32.

(a) VI & J& =i

(b) &3 G A1gRw
(c) el sTe

(d) T = & et
1 o = §7

(a) QeEG, _

(b) TSI
(ORCEIERCIERIED
(d) witea

33.

34, A fran i 2020 A @ Rod

g fen Aife w1 agen 3, 9z frea
ad § e v ot

(a) 1985
(b) 1986
(c) 1987
(d) 1988

{P.T.O.

- .

--
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30.

37.

As per 2011 ccnéus. the least densely
populated state of India is

(4) Arunachal Prades)
(b) Nagaland
(¢) Mizoram

(d) Sikkim

Sonal Mansingh is associated witly

(a) Bhnmtannlyam

(b) Manipur
(c) Mohiniyattum
(d) Sattriya

Official langunges are mentioned in

Which  schedyle of the Indian
Constitution?
(@) Sixth Schedule
(b) First Schedule
(c) Ninth Schedule
(d) Eighth Schedyte
38, ‘SUMAN® scheme of the government
of India is relateq to '
(a) vrevention ¢l materna| and
newbomn death
(L) eradication ol poverry
(c) promotion of heritage leaming
(d). recapitalizatiyn of PSU Banke
SESD/B
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36.

20171 <) "agrirmmr & IE[WR T
T w11 ) SUEIH I TR
(1) IIRGE vy

(b) Tirets

(c) Prfioy

() RifRen

W TR Ty fFram ¢
(2) T

(b) o)

(c) Tﬁﬁ?ﬁ:ﬂgq

(d) wiern

N GRem ) g

ST A
TSI & Seca 37

(a)‘nqqémmﬁaﬂfﬁm

(b) T 3=perm
(c)ﬁnmmmﬁaﬁﬁmrém
() e 41 1 wrdsfiaron
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"The Token Curmency 1n India was

introduced by

(a) llatmish
(b) Alauddin Khalji

(¢) Muhammad bin Tughluq

- T T —————— ——

(@) Sikandar Lodii

—————

0. The Urdu journal “Tahzeebul
Akhlaq" is also called as
(a) Tatler
Mohammedan  Cultere  and
i Marnners
(c) Mohammedan Social Reformer

l (d) Spectator

! in the period of :

(3¥ Prophei Nuh

(b) i’rophet Lut

t (c) Prophet Ibrahim
! (d) Prophet Zakariya

Hijrah is known as
(a)-year of deputations
(b) year of sorTow

(c) year of joy

(d) year of caliphate

This PDF document was edited with Icecream PDF Editor.
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1-41. The ‘Deluge’ (Great Flood) occured

42, In Islamic history the ninth year of the

i \
4
LET'S MAKE ACADEMIC RESULT BETTER
g

19, vt T Peud gra Qe g el
() Fevpbi

(b) A flaash

(c) e o gt

(d) Rt @

40, % i " T orEE

W AT Q0 S
r‘a)iz?f(
(b) g He= G IAd

(c) Higrred W EALT
() WEX

el T Rrg YTER ¥ W § 3R
?-ﬁ:

(2) T8

(b) <18

- (¢) TArm

- (d) FeRrin

41.

42. =l Thoem A 9 Rl @ TS
T A A ST 2
(a)&ﬁﬁl’gﬁf%‘lﬂt{

(b) < 1 a9

(c) & = =

(d) fastra =1 99

[P.T.O.
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f

~ WA
43. Sir Syed Ahmad Khan died on v 43, e HT"E GID] -q;-[ e zanm o
(@) 17 March 1898 (a) 17 1l 1598 Q
(b) 27 March 1898 (b) 27 urd 1898
(c) 17 October 1898 (c) 17 3ragart 189¢
~(d) 27 October 1898 (d) 27 19gat 1898 |

44. The number of books in ‘Sihah Siita’ 44, ‘e foen’ 4§ fpa QT &

are .

(a) 2 (a) 2
(b) 4 | (b4
<) 6 (c) 6
(d) 7 , (d) 7

45. The second battle of Panipat was 45, wrivg 6 egd wer frg ad ©

fought in the year : i ;
(@) 1526 . (a) 1526
(b) 1550 - (b) 1550
L) 1556 (c) 1556
(d) 1550 (d) 1560
46. Ghyasuddin Balban succeeded : 46. MYER T SEs AR wEs
: o
(2) ‘Qutubuddin Aibak (2) Feged TEw
(b Titutmish (b) Teoattm
{c} Nasir Khusraw (c) TR gad
(d) Razia Sultana ) (d) s gerar
SESD/B 16
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47. Shrine of Baba Farid Ganj-Shakkar is- 47, ETElE T AR w22 -
situated at :

(2) Multan (a) Heard
i (b) Pakpattan . (b) vr=RGEd
| (c) Hyderabad ' S {e) e
| (d) Amritsar (d) ST

48. Of the following, who was an 48, & d ¥ & W ¥ IEAE BH

associate of Sir Syed Ahmad Khan : Ffma:
_ (a) Maulana Qasim Nanoutvi. C (a) M FNEY TG
-i (b) Maulana Shaukat Ali (b) HiEH Sieea 3T
- (¢) Maulvi Chiragh Ali T (o) et e 3t
: {d) Muhammad Al Jauhar | (d) qE=7g 3t 1’[’1"‘( ‘ | )
‘l 49. Books not authored by Maulana 49, =H T I<H = e HEmE
Shibli : - Tl T €
i (2) Rahmat-i-Aalam () @A A
i ) Al-Farooq (b) ITHED
1 () Imam Abu Hanifah () T 35 TwE
|  @UmaKaam BRCECE Lo
il
! 0. The famous Agra Fort was built by  50. Wiz R @t feen feg @ 3
E King : | . TASH( W
-1 \ (a) Babur Y IGIEL
1 b Shah Jahan (b) TreSEl
(c) Akbar (c) 3HaT
| (d) Aurangzeb (d) ATTa
.4
.§  SESD/B 17
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A ear of mass 200 kg moves with- 51, 20 Py (kp), gour < | ]
i inihal speed of 72 km/hr, If 72 Fwf ‘/uu‘}]' ;;Ult”.f;:m e tm.( |
Ot applying brakes, a constant wei) '*; ‘q[:- ; -'”.1 S
deceleration  of (2 s s 1'\21/'4:; B ;‘_.ﬂ.'ﬂﬂ'l?. Suo
droduces i . R I C =
‘Phc mrub :l:;c _timlam.u,covcrf:d by \deceleration) 3y [ A ;T;,i
¢ it stops would be LR IR e ETC I W
(a) 0.1 km w7
(M) 1.0 km gi; 0.1 km
(©) 0.5 km 1.0 kin
(d) 2.0 kin E:)) 2.5 km
.0 km
9 A car slarts from rest and .

along y-direction with an u:il;v:; o2 ::mm %mm 'ﬁ ECiglitet
acceleration of 6 mv/s? for 6 seconds et % aﬂ“( i_m + fm o6
and it then continues with an unifOnT: /@ Qg A THHHH o
velocity. The tofal distance covered qoy-fam d wad) 2 3t i
by the car in 10 seconds since it I 3 f‘“"ﬁ?jwm ST
started from the rest will be T H I W 3 H 10 Whe F
(a) 252 m T T 0 @
(b) 260 m (2) 252 m
{c) 300m (b) 260 m

L, sem @ scom

A ik Vhile diving to school, 83, srer e & v ot 3 e

computes the average speed for his

ST A W 20 ken/h T 2] TR

I trip t ' tri
e lp ochOkah.Onhlsretum:tnp TR ¥ e % g 75 i =
| along the same route, there is !ess 3R 3fiEe 9 30 kavh ‘ :;Fi
traffic and the average speed is 30 $ 3\ t{f} RIE ”om-j;a T
: km/h. What is the average speed for T RT? e o
Abdul’s trip ? ;
25 ;
Yoy 24 i:n:fhh ) 2o |
k) 2 - (b) 24 km/h
Kin/h | (©) 22 km/h
(d) 21 kn/h (@) 21 kan/h
SESD/B - 8
|
: |
-;‘21 ~ !- - o Ch o —
g \= N .-—:. - ) i -—‘
7
e | h
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54.

SS.

If & body of mass 40 kg moving
initially with a speed of 30 m/s is
subjected to a retarding force of 60 N,
the body will stop after

(a) 30 seconds
(b) immediately
(c) 20 seconds
(d) 15 seconds

A nammer of mass 500 gram moving
at 50 m/s, strikes a nail. The nail stops
the hammer in a very short time of

0.01s. What.ic the force of the nail on
the hammer?

(a) 25N
() 250N
.(c) 2500 N
() 6500 N

. Acceleration due to gravity on earth is

g. If g' is acceleration dus to gravity at
a height ‘h’ above the surface of
earth, then )

.(a) g'=¢g

Pe<eg
(c)eg'>8
(d)g'=0

. SESD/B 19
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54, R 40 R, (kg) GoUTH W A

*3S.

. 56.

fig Wy A 30 m/s & Tid @
R 2 2t 39 W 60 N H TEH
& AT w2, @ e Al
T, Th SN ? -

(a)BOf—‘{EiTé

(b)

(c) 20 TE3

(d) 15 s

500 T TANH & Th gl g
50 m/s A/ T hict T TG Toha
T B Fr U gdis F aga A
T 0.01s ¥ @ A& fem wmar @i
S F TO AR W MY T =
F1 qiteed Fi

(a) 25N

(b) 250 N

(c) 2500 N

(d) 6500 N

R gl A Fag W TREHI &
FRO @R g B, A% g’ et 6 Wag
F ‘b S9T W IRETHET S FRT
= R,
(a) g'=8
(b) g'<g

. n)g>g

(d) g'=0

[P.T.O.
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57. - A motorbike fakes 30 k] enerpy to 57.

increase its initial kinetic coergy 1o
10 kJ and velocity 18 km per hour in
10 seconds. The final velocity
attained by the motorbike wiil be
km per hour.

(a) 20
(b) 27 '
(c) 30
(d) 36

e

a velocity of 50 m/s. The height up to
which particle can rise is

(g =10 m/s")

(a) 50m

®) 100 m

(¢) 125m

(d) 150 m

-~
-

59. Wire A is of length 40 cm and radius 59
2 mm, wire B is of length 25 ¢m and -
radius 3 mm respectively. Ratio of the
resistances Ra/Rp will be

8,

ALY

(2) S/18
(b) 5/12
(c) 12/5
(d) 18/5

'SESD/B 20
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58. A panticle is thrown up vertically with 2.

Wk s Al e i
Al w10 k] aw mgr & few
30 kJ wai adi 8 s 1o wmg
18 Fedt, wfir e ) rifa ot el 2
M s i wrea wfm an @

i, vl T
(a) 20
(b) 27
(c) 30
(d) 36

w0 A 50 /w6 A B
$amé 7% 33 WR ¢, T ¢

(g = 10 m/s%)

(a) 5Cm

(b) 100 m

(c) 125m

(d) 150 m

. TR-A B @ 40 T (cm) R

= 2 fefl. (mm) &1 3E-B =1
S 25 ¥E. (cm) AR F=u 3
T, (mm) 1 Ry/Rp Tl =
S g

(a) 5/18

(b) 5/12

(c) 12/5

(d) 18/5

e ————— — | —, . e

——— T - =
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0. A stone is dropp_cd {from the top of a-
tower 500 m high into a pond of
water at the base of the tower. When
is the splash heard at the top? (Given

g = 10 m/s’ and speed of sound =
340 m/s)

(a) 10 seconds

(b) 11.47 seconds

(&3 12.37 seconds

(d) 13.23 seconds

1 61. I[nahydio power plant

(a) Water is converted into steam to
give electricity

(b) Chemical processing of water
produces electricity

- ——

(c) Potential energy of the stored
water is converted into electricity

’Qd)"Kiﬁétic:er;crgy in the stored water

is converted into electricity

.62. A body of mass$ 5 Kg, initially at rest,
is moved by a horizontal force of 2 N
" on a smooth horizontal surface. The
work done by the force in 10 seconds
is
(a) 107
(b) 20J
) 40T
(d) 507J
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- 60. 500%@%&“11#{11?&1 .
A T TR AR ¥ AR W R
T O ¥ e # fren s 1
T 1 e i R =i 9 w
w9 g M7 (g = 10 m/s’ aum
{9 = 340 m's)
(a) 10 ¥
(b) 11.47 TFE
(©) 12.37 ¥&3
(d) 13.23 ¥FS

., W& 9 ufte v |

(a) feoreh 3 & v well wiig ¥

)Tl F et wEEeer ®
farorell e At B

(c) 6fm ww 1 ok o=
(potential energy) fo@ =
ofEfda & IE &

() & W& H TR S
(kinetic  encrgy) fem #
qafda @ et &

e g frae g5AE. S kg @ A

qrfee frommaen & 8136 W2 N

w1 Aftw 7w o w R At

TR W TeR ol }1 = g T

T % 10 ¥ 1§ feaan @m?

(a) 10J '

(b) 26 J

(c) 407

(d) 50J

62.

[P.T.O.
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63. An eclectron enters a magnetic {ield at 63,
“-right angles to it, as shown in figure
below. The direction of force acting
on the electron will be

m o
/1]
R
R

Electron

Magnetic ficld

v

}a} to the right
(b) to the left
(c) out of the page
(d) into the page

1000 Hz and wavelength 25 cm
respectivfcly. Time taken by it to
move through 1 km will be :

(a) 2 seconds
(b) 4 sec;onds
{c) 6 secgonds
(d) 8 seconds

operates; 10 hours/day. What is the
cost of enmergy to operate it for
30 days at rate Rs. 3.00 per unit?

(a) Rs. 990.00
(b) Rs.300.00
{§ Rs.360.00
(d) Rs.i400.00

SESD/B 22

64. A scund wave has a frequency of  64.

“65. An clcc‘tric. refrigerator rated 400 W 65,

ﬁuqmwmtﬁrsfﬁazw
Rl gadla a4k A ¥ e
YAV FE {1 gedgia W amifia
ae ) R w R7

. v

Yy 8

v

v

¥
(a) T4 3N

(OELELS

(c) I F =R Y AR A T
(d) =t & fiat A 3T IR g
w@ & atr B Sght T 1000
o IR e 25 A A @
| foft, w3 ¥ @R T A
B

(a) 2 ¥he

(b) 4 T&FS

(c) 6 &

(d) 8 T ,

400 W. @ g e
Wratx 10 ﬂ%/ﬁamm gl
3.00 7@ Yo e A wa @
30 iR o o1 % R = =
Ted T 27

(2) 90.00 T

{b) 300.00 TR

{c) 360.00 T

(d) 400.00 T
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ol

vl '.'a}"e-..u.n&.\l.n.f NS s e a4t 40 s & bl
vy i

3 56. An object is placed at 25 em in front -
> of a concave mimor of focal length
1S cm. At what dis‘lni{cc from the
mirror should 2 a.crecu,\bc placed in

66. W i ﬁnﬂ 15 cm tﬂchu Q\ X
| amaa&wﬂ?acmq{\qtrmu
u foraht g ot fmf u@ =)

LG | ﬁﬁ oy o{¢ Ti?
crder to obtuin a Shm‘p lmage? m BIRIEC R = K
] (a) 1S cm @) 15 m
(z c
{b) 30 cm
X ©) 37.5 - () 30em
1 .2 C .
: . " () 37.5¢cm
' (d) 42.5cm @ 425
D cm

167. Three resistors each ;of 8 vy
. Q are  67) 3 Q¥ dn
! conaected 10 a triangle. The resistance < ﬁ‘\ﬂ : B

RG2S N
1{1/:9 between any two terminals will be - R i
6 @ 5 1
(2) 52 2
[ OR!
,@) . 16 o ’ 16
3 © < Q
(d) 24 Q o ‘ d) 24 0
68. Propane with molecular fo R anfoys
ar formula CyH 68.
: has covalent bonds, 3 i m Gr‘na‘;ﬁ Gt ¥
k4 . e ‘HE i
" | - . T
®7 o SN
) 8 | | o
| NCE | @
169. o

The organic com ¢ i
, pound ‘urea’ in g9 TSI FERS B
| laboratory was first prepared from i urea’

—_ YA IR TG
(2) ammonium cyanate : é o
4 o _ (a) 3w e

(b) ammonium (hic~-anat
anate
; (b) 3mram iy
! (c) ammonium isothiocyanate (c) Iy Gﬁlﬁvm’m‘—qﬁg
- (d) ammonium carboaate (d) ¥y ?Fﬁ:ﬁﬁz |
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70. The formula ot‘lbutanoic acid is

(a) CH,CH,CH,CH,COOH (a) CH,;CH.CH,CH.COOH
~ (b) HOOCCH,CH,CH,CH, (b) HOOCCH,CH,CH,CH,
- (© CH;.—CH-AIZH~CH3 _ (c) CH;~CH-CH-CH,

COOH | éOOH

(d) CH,CH,CH,COOH (d) CH;CH,CH,COOH

w N . l
» o 7L Which of the metal would be 71. . For 4 @ 99 utg I i

ta

+~  displaced from solution of its salt by uTgan grr Rreenfi g
2 . other three metals? -
b () Mg @M

®) Ag T (b) Ag

(c) Zn (c).Zn

(d) Cu (d) Cu

72. The number »f particles in46 g of Na 72, 46 g Bifeaq 21uadi § %o &) we=m

atoms is : : 4 p BT -

(a) 6.022 x 102 - (@) 6.022 x'102
(b) 12.044 x 10? | C - (b) 12,044 x 107
“(c) 3.011 x 10% . <. (6)3.011 x 107
(d) 6.022 x 10* : (d) 6.022 % 102

73. Heating of ferrous sulphate (FcSO.): 73, W TR (FeSO,) H TH 1 T

gives : . T WA BT 2
_td) Ferric oxide _ (a) Ferric oxide
(b) Sulphur dioxide ' ' (b) Sulphur dioxide
(c) Sulphur trioxide (¢ ) Sulphur trioxide
(d) Allofabove () 3w T
SESD/B A 1
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o AN LS W byt o] Y B P e PRI IR R T
DRI st Mot AR Ll iy S b R
AR PR L L E SR L

".‘ ' i . LI . . i. .-.‘..-', * ' qﬁ—dﬁ:{
74. Bumning of paperis . | 74, TSl &1 Sern T
3
3
A4) Physical change (a) Mifces
(b) Chemicai change (b) ﬁﬁq—(-lﬂl.ﬂi-}ﬁ?
(c) Biological change (c) 3

‘ A&l
(4) (a) and (b) both (d) (a) 3T (b)

{ I ] Tl rfﬁ-q
75. Which of the following pair of  75. e d\fis gal & sl T

compounds are homologous? | Aol i o /7
(a) CH,4and C;He () CHq aﬂr C,Hs
(b) C;Hg and CyHs . (b) CHe aﬂt C:Hg
(c) CyHgand CiHjo - (c) C;H 3 CaHyo
(df All of the above (d) 390w W
76. 0.5 gm cf a substance is dissolved in 76. T gerd w1 0.5 g,u25 g ﬁa’é'u?f
25 :m of a solvent. The percentaze (solvent) T Uied gl solution H
amoaunl of the substance in the v Y wiRra "7 R
solution ' _
(a) 1.96% . - (=) 1.96%
) 1.65% . (b) 1.69%
(c) 19.6% | O (0) 19:6%

: d) 16.9%
(d) 16.9% (d) 6

1 40 >
47. The electronic coniiguration of the 57, 7= (clement) X =T ERETAIEEY

. SN
element -ggX is fa=m= (conﬁgumuon) E
() 2, 8. 10 (a) 2,8, 10
a N

’ () 2,10, 8
(b) 2, 10,8

© 2,8,8,2
() 2,8, 18, 8,4

(cY2,8,8,2

(d) 2,8,18,8,4

25 | (P.T.O.
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78.

Which of the [ollowing does not
promote c.orf'osion?l ' |

(&) Uneven metal surface

- 78.

o D UL |
ot R0 S

LET'S MAKE ACADEMIC RESULT BETTER

Fefafie

A

'(corr'(_)sion) H Tl agrlt?

(a) *g i 3@maeE Y8 (uneven

(b) Position of the metal in the surface)
reactivity series (b) aferaa oft % urg & feury
(=) Presence of salt in water vapours (c) et = & e fY 3ufeufy
_(/d)/ Copper carbonate (d HT HrErR
79. The molar mass of sulphur molecule 79, Sulphur molecule ‘&I Hiert F=qaMH
is _ ? |
(a) 32 (2) 32
(b) 64 (b) 64
(c) 256 (c) 256
(d) 200 (d) 200

80.

XCi, is ionic chloride of an clement

o

K'. The element 'X' belongs to

which group and is similar to which

50.

XCl, molecule T s{afe =113
2 w3 X' few gm et g
element ¥ =@ 27

element?

(a) Group 2, Magnesium (2) 79 2, Mg
(b) Group 1, Potassium (b) I9 .1, K
’(,c). Group 16, Sulphur (¢) 49 16, S
(d) Group 17; Bromine (d) g9 17, Br'

81. Which gas is the major greenhouse 81, M €l TiF 78U fig gad Hferwan
gas? T AR ? .
(a) CHL mA™1 - (a) CH,
(b) SO - (b) SO,
" (c) SO; € SO,
(1) CO, (d) CO;

'SESD/B 26

This PDF document was edited with Icecream PDF Editor.

Upgrade to PRO to remove watermark.

Scanned with CamScanner

e - ——
———


https://icecreamapps.com/PDF-Editor/upgrade.html?v=2.56&t=9

b B U IS T | h I
; N dbadin st et bobsds metasine b Dinabadonaio oo

§2. Which one 1s the ore of Zinc?

(a) Magnetite
Ab) Calamine
(¢) Bauxite

(d) Hacxﬁatopyritc

83. Which of the following is not truc
about electrorefining of metal?

(a) A pure metal is deposited at
cathode

(b) A pure metal from

dissolves in the electrolyte

cathode

silver and gold are

extracted by electrorefining

Jg.} Impure metal is made as anode

(c) Copper,

84. The folléwing comipourid
: CHj-

rerra

: l
CHT?.'C.:H’ .
CH.
is named as

(a) icobutane

(b) neopentane
i ;;) isopropane

(d) n-pentane

27
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82. T N wm W W Zine W@l i

83.

2

(a) Magnetite

(b) Calamine

(c) Bauxite

(d) Haematopyrite

e A4 wig & fga wigas
(Electrorefining) % ¢ wd i
R7?

(a) ¥g U1g cathode T THEA Eiell
?

" " (b) I Wy cathode ¥ electrolyte

84.

7 frem At @

(c) =R, =, =W frgga Rt
B Frem 1a &

(d) 31 YTg N anode AT

-

CHy '
CHyCCHy
o CHJ E

= AW R

(a) isobinanc
(b) ncopentane
(c) isopropane

(d) n-pentane

[P.T.O.
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85, Light dependent stages 1 photo-
synthesis  cannot  be  carried  out

without
(a) Oxygen
{ @) Carbon dioxide
(c) Water
(d) Hydrogen
86. In reflex action, the reflex arc, is
formed by :
(a) Receptor - Spinal cord - Muscles
@ Spinal cord - Receptor - Musclclzs:

(c) Muscles - Receptor - Brain
(d) Muccles - Spinal cord - Brain

87. Nuclear membrane and membrane-
bound cell organelles are absent in -

L) Bacteria
(b) Cladophora
(c) Ulva

(d) Chara

88. Involuntary actions such as blood
pressure, salivation in 2 human brajg
are controlled »y

(a) Ceretium

(b) Cranium

(c) Hypothalamus
(d) Medulla

SESD/B 28

86.

87.

88.

e oy e e gl

Fal U wuiala w6 w wn feads
fern i B W &7

(a) 2TTHISHA |
(b) e BrEATHIES
(c) Sret

(d) TG
wftrerdt forar 1, wfeeddi <19 (reflex

arc)En"Iﬁ'quﬁrcﬂ%:

(a) f=x - G 1 gl - Trautal

b)yfe HfN & - o= -
AR

(c) AaaRnT - fide - famm
(d) Tt - fg 6t g - Ram
Hﬂ‘aﬂ?mﬁﬁaﬁﬁaﬁmm

Wa‘uﬂmm%ﬂﬁaﬁnqﬁ
it 27

(a) aﬂﬁ‘ﬂT'(Bactcria) '
) F=ET (Cladoplora)
(c) 314t (Ulva) '

(d) FRI (Chara)

AR gferes ¥ sifRas fead 39

?q' IR BilTﬁ femd frafim A
?

(a) smferss (Cerebrum)

(b) suTE (Cranium)

(c) TRNAATT (Hypothalamus)

(d) Az (Medulla)
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89.

90.

91.

92.

SESD/B

Which plant cells allow transport of

water and minerals verticaliy?

(a) Tracheids and companion cells
(b) Tracheids and vessels
(¢) Vessels and companien cells

{d) Vessels and sieve cells

Kingdom Monera includes

(2) Red yellow algae
(b) Red brown algae
[c) Blue green algae

(d) Green algae

In which cell organelles the complex
sugars may be made from simple
sugars ?

(a) Endoplasmic reticulum

(b) Golgi apparatus
J[c) Lysosomes
(d) Mitochondna

Energy captured by green plants in a
terrestrial ecosystem is about

() 1%
(t) 3%
(c) 5%
(d) 10%
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89.

90.

91.

NOTESMYFOOT

LET'S MAKE ACADEMIC RESULT BETTER

ag s SR & 9 S A%
@ e W W aw qu A @
ST B 7

(@) TErs ur wneft Ty

(b) ¥ee o R

(c) TferTd w weft FifRrerg

(d) TG, T et HIREHT

T (Kingdom) Wxa # i faa
H T AG A Q7

(a)chliﬂ'&’ﬁﬂ
(b) T F=A g
(c) it 78t TR«
(d) 7l 7@

frg ST d wurer wwu [

. S U TS S Tl 27

92.

(a) SAapedt ST (GErenfeeh
Wegam) -

(b) Tiesil YT

(c) TRRET

(d) TTEIgal

w wehw wiE § ) 9 g
TEW H TS FA A B

(@) 1%

(B 3%

©) 5%

d).1 %

., (P.T.O.
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| 93 “Evolutxon occurs due to npatural
S, % .se]ecuon » This hypothesis. was given

by :

(a) Edward Jenner
(bYCharles Darwin
(c) Lord Mende!

(d) Louis Pasteur

94. “Which is not an inherited disease ?
(a) Typhoid
(b) Color blindness
(c) Hemophilia
Ad) Klinefelter

95. One of the best solutions to get rid off

non-biodegradable wastes is
(a) Burning

{(,b) Recycling

(c) Dumping

(d) Burying

96. Wno sacrificed her life along with
363 others in 1731 for the protection

of ‘Khejri’ trees?

(2) Medha Patekar

(b) Amrita Devi Bishnoi
(c) Arundhati Roy-

(d) Gaura Devi

SESD/B
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- 93,

94,

95s.

96.

ﬁfmm@"ﬁmam#mwrm

R 7 dfeme fea g @

of?

(a) TEae 9 (Edward Jenner)
(b) =1eH Ifd3 (Charles Darwin)
(c) T W& (Lord Mendel)

(d) T§ wres (Louis Pasteur)

S H e st 7€ R 7
(a) TEIST (Typhoid)

(b) SoTitrar (Color blindness)
(¢) EMISRAT (Hemophilia)
(d) F=ET%ER (Klinefelter)

W T RO, 7 d ws, s
G HW FH WY 0T T 2

(a) ST AT
(b) 378 | werel s
(c) gt T

(d) ¥ifr % g

w1 1731 § e ‘o’ ¥ 95
W & R 363 o wnl %
amﬁsfmwa%mﬁmm?
ORCIkice &

(b) 3rgar <&t fats

(c) srufa Ta

(d) i =R
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97. Honmone that nﬁ:\\lsés wilting of leaves
is
(1) Auxin
) Gibberellin
) Abscisic Acid
(d) Cytokinine

98. Black rust of wheat is caused by a
species of the genus

(@) Mucor
Ab) Rh:‘zopz;'s
{c) Aspergillus
(d) Puccinia

99. Mendtl used nuraber of contrasting
characters of garden pea, among them
one was

- (a) White/violet flowers
(b) White/red flowers
(c) Red/violet flowers

(d) Yellow/violet flowers -

100. Water canal system is found in
nE ?‘f Porifera
(b) Coclenterata
(c) Echinodermata

(d) Mollusca

97, @ w il Vg A v @ g

98.

99.

\WR?
(a) Hifawm
(b) Raiiem

(c) weRrs s

(d) wEArRTs R

g = W R Aimd st
Q8N R?

(a) =T

(b), TETT

CRGEEL

(d) vaeifRT

Ted A @i & 9X & w fuda
TEVT &1 TR e, 3 A @
o7

(a) TG/hrR g

(b) Be /el Tt

(c) wmel/&mR wa

-(d) e /& T

100, it TR womeht fped wig STt &

(a) kT (Porifera)
(b) =t (Coelenterata)
(c) wsEAeAiel (Echinodermata)

(d) Hieresm (atar) (Mollusca)

!
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LET'S MAKE ACADEMIC RESULT BETTER

ALIGARII MUSLIM UNIVERSITY, ,«?LIGARH .
Answer Key SSSC(Sc.)/Dip. In Engg. Admission Test 2021-

SERIES: B
Q.No. Answer Q.No. |. Answer
1 A 51 B
2 D 52 A
3 B 53 B
4 C 54 C
5 B 55 C
6 D 56 B )
7 B 57 D
8 B 58 C
9 C 59 D
10 C 60 B
11 D 61 C
13 C 63 D.
14 B 64 B
15 D 65 C
16 A 6 C
17 D 67 C
18 D 68 C
19 C %5 =
20 D 75 5
21 D en B
. 22 B 7 B
23 A 73 D
24 C 7 5
25 B 75 D
26 C 76 A
27 B 77 C
28 c 78 D
29 c 79 C
30 B 80 A
31 D RI D
32 C 82 B
23 C $3_ B
35 A 25 c
37 D 87 A
40 . C 9D C o )
41 A o1 B
42 A 0 =
45 C 55 B
46 D 9% B
47 B 97 C
48 C 98 D .
49 A %9 n
50 C 100 A
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